
 
AS 15 Employee Benefits

u u

1 Shortteam 2 Post Employment 3 Other longterm 4Termination

employee Benefits Benefits Benefits Benefits

Tho Exp in the yearin which it accrues Paymentse humko faratemahipadta

Employee

The team employee is not defined underAS 15 butstates that employee

may provide services to an entity on a full time parttime permanent casual

on temporary basis
For the purpose of this standard employees includedirectors other management

personnel

I short term employee Benefits

Shoot team employee Benefits other than termination Benefits are

payable within 12 months from the end of period in which service is

rendered

1 Salary wages 2 Bonus 3 leave compensation

CoBBUPutitd Blatsahaab

Ef paid
Next page

Said wagesATDÉE
Pll Profittarget Bonyshot

profit
TO CIB

BonusAccrues in X1 X2
If accrued But notpaid payment in X2 3

Salt ExpAlc Dd Pll
x1 x2

To of salary Payable Bomy ExpAT5
liab To Bonuspayable 6



Laterwhen you pay off your ols X243

olsSalary Payable BonusPayable

TO CB TO CIB

leave Compensation Paid leaves

1 Accumulating 2 Non Accumulating

elf is permitted elf is not permitted
to unused leaves will

vesting Nonvesting lapse
canbeencashed cannotbeencashedbut

NoAldng treatment
such leaves will be
clf to NextYear

v

eg X1 X2 40leaves
10availed

30daysclffs Payment9
Cg zyadd

x1 x2 mennet

Employee earns leaves inX1 X2 ie payment has accrued

It Leave Comp Exp c Dr xx

xxTo Payable 018
was

42.11 Payable xx

TO CIB XX



Example Non vesting X1 x2

Alc poor Employee 12months salary 6 crores pa
50 permonth

Everyyear 40 leaves 10daysantail
30days leaves Bal nextyear elf cannotencash

x1 x2 Salt ExpAlc Dr Guores

TOCIB 6 crores

p PIC
X1 x2 leaveCamp ExpAleDe 501

To
Lyforagleane comp

50L

x2 3 Emp Ct 40 days

Nextyear PY 3

15
full leave Bat of 70days utilized
SalanyFyp All Do 5.500 Blf

Prov for leaveCompDo 501
TO dB Ger

CaseB vesting Example same as above

112 Saly ExpAlc Dr Guores

TOCIB 6 crores

p PIC
X1 x2 leaveCamp ExpAleDe 501

to payablefor leave comp 50L
liab



x2 43 Cy todays
Py 30day

94 fall 40days

encash

Salt Exp Gar Said Exp GW

TO UB Ger Payable 501

to us g.gg

Payame Alc Dr 501

TO CLB 501

Nonvesting vesting

2 3 He avails extra leaves 213 Thedoes notavail
i Paymenttotal Gerhe mila extra leaves instead he encusher

it
Paymenttotal 6 scr mila

Get su

Salary Have comp
payment

Note When Booking Exp a liab for leave compensation we also have to

considerestimates regarding how many leaves employee will be able

to utilize in future

Ak has earned 30 leaves balance in CY Salary perday 1000 But co

expects that All will beable to utilize only 20days of leaves in future from

leaves earned in CJ

In In above case company will book leave CompFxp prov only for20days
leaves II leave comp Fxp Alc Dr 20000g 20days 1000

TO Provfor leave comp



I Post Employment Benefits Retirement Benefits

Post Employment Benefits are those benefits which are paid to the

employee on the event of retirement from the company

Post employment Benefits can be of 2 types

to 1
Defined Contribution DefinedBenefit Plan

Plan DCP DBP

DCP These are postemployment benefitplansunder which an

enterprise pays fixed contribution to a separate fund 2 that

fund will provide the benefit to the employee on retirement

eg Provident fund

p PFHnd Employee on
retirement

Gout fond
Ncf Actuarial risk Investmentrisk

After contribution by co to the fund there is no risk on the company
agar PFfunddobgaya ton employee Ka nuksaan co will

not do anything

cg PF Employer's out 80000 for the year X1 x2

Case It isaccrued in X1 X2 2 it is to bepaid on 1504 2



XXL PF Exp 80000

TO PF Payable 80000

is 04X2 PF Payable 80000

TO UB 80000

CaseI It is accrued in x1 x2 it is to be paid on 01 041 3 D.F 10

1
x1 x2 1 3,1313 10433131 2

3 1
2 PFExp 727271,12 Jen

steered Payment

PFPayable 8880000 18000

ur 1
ut

31313 72727 10 7273 72727

Int ExpMPU 7273
Iss PayableTOPFPayable 7273

pe Int for
liab 146

3131 3 Total liab 72727 7273 80000 unwinding
inflation
Interest0110113 PF Payable Alc Dd 80000

TO CIB 80000



Defined Benefit Plan eg Gratuity
Emp Retired

I 4 s
Emp Ko

Yr0
retirement
Ka paise
Kau doga

Fund Mo
Co YES

These are post employment
benefit plans other than Defined Couthplan

In definedBenefitplans the risk actuarial risk investmentrisk falls on
the company
neg ME
Important terms forDef Ben Plan Accountingdone as per Puera

Projected unit creditmethod

1 Current service cost PIL

2 Interest cost s PIL
3TDefinedBenefitobligation DBO liab

4Actuarial Gain loss on DBO s PIL
5 Past service cost vested Invested PIL

Plan Assets Bls Asset

ExpectedReturn Int Income on Plan Assets PIL

Actuarial Gain loss on Plan Assets

9 Curtailment settlement



Eg BBV Put Hd has an employee All who has joined the company
in current year Copromises Gratuity payment on service completion

of 3years
Gratuity will bepaid as per the following calculation

Gratuity 1 Final drawn salarypa No of completed
Years of service

Ak Sid 101 p.ci
No of years expected to work with 10 Byrs

Expected increment p.ae 10

Disc factor 10

Sold Gratuity 1 Final drawn salary p a No of completedyears
of service

1 12 10,000 Byrs
101
11101
34s mein
noga2barar
increment

36300 To bepaid after Byrs
Accrue over the periodof 3years

Gratuity each year 36300

34s payment

12100
pa 36391 1

Uro art 482 413
end end end
12100 12100 12100



CurrentServiceCost
1 press 2times

Calculation of each year PV
Yr end Expaccrued DF 10 PV

1 12100 Payableafter2yrs 0.826 10000

2 12100 Payableafter lyr 0.909 11000

3 12100 PayableafterOyear 1 12100

Calculation of Interest EachYear on DBO

YrOpnBalJut 101 ExpBooked cues DBo
in Cy

I 10000 10000

2 10000 1000 11000 22000

3 22000 2200



II
Yr lend currentservicecost CSC

Gratuity Exp 10000

To Gratuity Payable 10000

DefinedBenefitobligation DB

42nd Int Exp 1000

TO DBO 1000

42nd CSC 11000

TODBO 11000

urbend It Fxp 2200

TO DBO 2200

UrBend CSC 12100

TO DBO 12100

9

4 1 of Dpo Ac Do 36300

Gratuity TOCIB 36300



Illusa CDR Total DefinedBenefitPlanAunt

Defined BenefitAunt
pa

Calculateof PV of CSC

calculation of Int cost each year

as perquestake 5 increments
7

TotalDefinedBenefitobligation 25 last drawnsalary No of completed

yearsofservice
25 X 24.00.000 X 5yes
30.00.000gs

to bepaidafterSyrs
Accrueover the periodof59ns

cell lastdrawn salary 1490,210 10 10 10 10 10

1490210 110 X 110 X 110 X 110 110

24 00,000 approx

DefinedBenefit cost pa 30.00.000

Say

6.00.000p a Retirem

I

Don 41 ira s 4 12th
end
GL GL GL GL GL

Calculationof CurrentServiceCostpoa 11.08press 4times

ur D F 8 PV csc
1 600000 payableafter4years 00735 441000

2 600000 3ps 00794 476400

3 600000 24ns 00857 514200
4 600000 ly 00926 555600
5 600000 f ones I 600000



Calculation of Interest cost each year
Year OpnBatof Cls CDBO

DBO
Cry
Exp CSC

1 441000 441000

2 441000 35280 476400 952680

3 952680 76214 514200 1543094

y 1543094 123448 5,55600 22,22 42

5 2222,142 1,77 771 600000 2999,9132
1872 301approx

87

roundingoff

4 Actuarial Gain loss on DBO
These aregains loss in DBO which result from changes in estimates

eg change in increment completedyearsofservice DiscRate Noofemp etc

1

1 PV of DBO increases 2 Pyof DBO decreases

Actuarial loss on DBO PII EEE DBO Alc Dr liab

TO DBO lian To ActuarialGainonDBO PII

01,1

5 PastService Cost
This results from Plan Amendment eg Gratuity increases from 1 to3

The Balance ofDBO will also increase due F from25 to30
decrease is raretoplan Amendment



eg Due to Plan AmendmentDBO icalculation is revised it resulted in a

increase of E 101 vested 71 unvested 31

vested PSC PLC 71
unvestedPsc Recognise'inAsset awlott over the IMMY

remainingTO DBO 10C period
Plan

Iskoaaj
Amend

expBook mat Karna

vestedPSC puraneyears ka exp
which changed due to amendmentinplan

UnvestedPSC Futureyears ka exp which
will change due to Plan Amendment

6 Plan Assets

These are investments specifically done to fund our DBO

IE for contribution in Plan Assets
PlanAssets Alc Dr

TO CIB All

7 Expected Return on Plan Assets Rate will be same as Discfactorused in
DBOfor PV

eg OpBat ofplanAssets 101 Disc Rate 10

Expected Return on PA 101 101 IL
p Bls Asset

IF.ge Da 11 PA IC

Jie
or

PlanAssetpa.ie
TO ExpectedReturn 1L TOExpected IL

PIL EB 187pA



8 Actuarial Gains loss on Plan Asset

PlanAssets are always measured Fair value

Eg Plan Assets Opn 01004 x1 10.000 Given

7 ExpectedReturn on PA Dise
Yrend31.3 2 Rate10

1000 s P.A AllDe

To ExpectedReturnon P.A

PA AlcDd
7 Contribution 31.3.12 trend 5000

to CIB

withdrawl Benefitspaid 31.3 2 2000 CIB

14000 TO PA
2002000

ActuarialGain on P A PII 3000 yell woh returnhaijo humne

Fair value of PlanAssets on31.3 x2 17000 Given expected so bhizyada
Kamaya

Note

ActualReturn on Plan Asset ExpectedReturn ActuarialGain Actuarial less

onPA onPA
on PA

1000 3000

4000



1 CSC PIL Plan Asset Bls Asset

2 It cost Pll ExpRethon PA Pll Actual

3 DBO BIS liab Actuarial Gll on PA PIL Returnon

P.A
4 ActuarialCill on DBO Plc

Estchange

5 psc vested Plc
unvested infuture

PlanAmendment yearsPIC

BIS

DBO 100 75

DBO
25

Illus 12

Plan Assets ol ou XI OP Bat 8.00.000

Expected Rate Into notRate DiscRatemissing
1 Contribution 280000

1 withdraw's Benefitspaid 200000

880000

Actuarial Gain on PA 260000

FV of Plan Asset on 31.3 2 1140000 Given



Actual Return on PA Expected Return on PA 1 Actuarial Gain on PA

NA t 260000

260000

Int
Calculation of ExpectedReturn on PA

Return an Open Ball of Plan Assets 100000 1025
1,27m

10250

eturn on Net contributionmadeon 3109 1 49000 19000 1538approx
30000 10251 12

Expected Return on PA 11788

Alternative ICAI Assumption

6mouths as
Assumption

perhalfyearly I 1
Fate

compounding

11 0.1025 1

1005 1

0005 or 5
2
Halfyear
rate

Gm rate

as we did square
root



FCAImethod

Calculation of ExpectedReturn on PA

Return an Opn Bat of Plan Assets 100000 1025
1,2mn

10250

Return on Net Contribution madeon 3009 1 49000 19000 1500

30000
151 6 1already
of6m 11750

Calculation of ActualReturn All Sid

Plan Asset OpnBal 100000 100000

1ExpectedReturn calculatedabove 11750 11788

t Couth 49000 49000

Benefitspaid withdrawls 19000 19000

141750 141788

ActuarialGains on PA 8250 8212

Fair value of PlanAsset 1 50,000 150000

ActualReturn on P.A Expected Return on PA 7 ActuarialGains on PA

11750 177 8250

20000

Aksia 11788 8212
20000

Data of DBO 2 Actuarial loss on DBO was irrelevant as nothing was

askedrelating to that



9 Estailment a settlement
I

u

cancellation settlementoccurs when entitysettles the
of Plan PlanBeforedue date

cg Total DBO was 12000 example DBO ofF100,000

Co curtailedDBOworth
which was settled for 90.000

1000 withoutany IE withdrawmoneyfrom Plan Asset
settlementpayment CIB Alc Dr 90,000

TO Plan Assets 90,000
v

J.E DBO Alc Dd 1000

TOGainon 1000

curtailment PII 5 11100.000
TOCIB All 90,000

TOGain on settlement 100009 1s
Asset PIC

30 18000
Playsset 10000

Unvested PSC 1200

Cunamortised

the curtailed 10 ofDBO i e

DBO will deduceby 1800

without any settlementpayment

I DBO Alc Dr 1800 1800 101 Bls draft aftercurtailment

to unvestedPsc 120 1200 101 pro 16200 planAsset 10000

ToGain on Blf 1680 unvestedPsc 1080
Curtailment

Net
B 5120



Illus 8 CDR

1 Gain on curtailment

IE
DBO AIC Dr Goo 6000 10

TOunamortisedPSC 18 180 101

TOGainon Curtailment5820

ii Calculation of Net liab

Rough

DBO aftercurtailment 5400 Bls aftercurtaily

ess F V of PA 5700 DBO 5400 PA 5100

less unamortised PSC after 62 6000 600 162
curtailment 1 0 18

net liab to be 138

Tf38shown in BIS

Note

15 states that Actuarial valuation should be conducted once in every 3years

rovided there are no majorchanges in estimates



Other long term Benefits
These are employee Benefits other than retirement Benefits which are

paidafter 12monthsfrom the end of reporting period
Examples
i longterm compensatedabsences such as sabbatical leaves

i longtermdisability benefits
iii Any other compensation to be paid after 12months

Accounting is same as Defined Benefit Plan
VRS

Termination Benefits eg
RetrenchmentScheme IoluntaryRetirementScheme

Termination Benefits are recog as an expense liab only when
a Adetailedformal plan for the termination is duly approved
b A reliable estimate can be madeof the amount of obligation

I
couen telmination benefitsfaus when termination benefits falls

due within 12months after Bls due after 12 mouths from Bls date

date
Book liab discounted valueBook liab at undiscountedvalue

1 eg Termination Benefit accrued on
31.3 2 paid on 01004 3 80010

eg Termination Benefitaccruedon
D F 10

31.3X2 paid on 30.06 x2
80000 IE 3131 2 Exp VRS Alc Dr 72727 4 899

3113111 Exp IRS Alc Do 80k TOPayable 72727

TO Payable 801 31313 Int Exp Dr 7273
To Payable

7213377770

301061 2 Payable alloy1 3 Payable 80000
TO113

80
80K TOCIB 80000


